

Government of West Bengal Irrigation & Waterways Directorate Office of the Sub-Divisional Officer Kangsabati Canals Sub-Division No IV Sarenga, Bankura.

Memo No : 731 Date : 11.01.2022.

NOTICE INVITNG TENDER

(For works of estimated cost up to Rs 5.00 lakh)
Corrigendum 1 NOTICE INVITING TENDER NO: - WBIW/SDO/KCSD-IV/NIT 05 OF 2021-2022.

Ref: Memo No-716 dt 03.01.2022.

This is to inform all that following changes are inevitable in original tender-

• (Page 1 & Page 9)

Revised Time Schedule of Tender procedure:-

iv)	Date & Time and place of opening of Tenders.	21.01.2022	Up to 15:00hrs. After 15:30hrs.	i)S.D.O/ K.C.Sub- Divn.No. IV, Sarenga.
iii)	Last Date & Time and Place for dropping Tender paper.	21.01.2022	W . 45 00l	i)S.D.O/ K.C.Sub-
ii)	Last Date & Time and Place for issue of authenticated Tender papers.	19.01.2022	Up to 17:00 hrs.	i)S.D.O/ K.C.Sub- Divn.No. IV, Sarenga
i)	Last Date & Time and Place for application(Application must be supported with self signed NIT, 2911 form, BOQ download from departmental website – www.wbiwd.gov.in along with all relevant papers and credentials i.e PAN, GSTIN Registration, Trade license, work credentials etc.	18.01.2022	Up to 15:00 hrs	i)S.D.O/ K.C.Sub- Divn.No. IV, Sarenga.

Sub-Divisional Officer Kangsabati Canals Sub-Division No IV Sarenga, Bankura.

• In Page 9: (chages are in bold font)

SI N o.	Name of Work	Estimated cost (value of work put to tender) (Rs)	Earnest money (Rs) (2% of the estimated cost put to tender)	Cost of Tender Docum ents (Rs.)	Time of completio n of the work	Source of fund	Eligibility of Contractors
1	Repair of Boundary wall (North side) & Renovation of garden at Kangsabati colony campus at Mouza-Sarenga,Block-Sarenga under kangsabati canals Sub-Division No-IV, Sarenga of Kangsabati canals Division no-I,Amlagora,Paschim Medinipur during the year 2021-22.	90426.00	1809.00	Nil	20 days	SDS maintena nce	Bonafide agency having Credential of execution of similar nature of work of value50% of the amount put to tender within the last 5 years
2	Renovation of existing Drain alongwith remaining cement concrete approach road at Kangsabati colony of Kangsabati Canals Sub-Division No-IV, Bankura at mouza-Sarenga, Block -Sarenga,under Kangsabati Canals Division No-I, Amlagora, Paschim Medinipur during the year 2021-22.	186630.00	3733.00	Nil	30 days	SDS maintena nce	Bonafide agency having Credential of execution of similar nature of work of value50% of the amount put to tender within the last 5 years
3	Soil Investigation for Proposed C.C. Lining in different reaches of Dy. No. 4, Mr. A,B,C of Dy 4 of KMC(L) and S.Mr. A of Mr. B of Dy. 4 of KMC(L) at Mouza- Nekrapahari & thirteen others, Block- Sarenga, Dist Bankura under Hd Qtr Section of K.C. Sub-Division No-IV under K.C Division No-I, Amlagora.	153833.00	3077.00	Nil	15 days	SDS maintena nce	Bonafide agency having Credential of execution of similar nature of work of value50% of the amount put to tender within the last 5 years

11/22

Sub-Divisional Officer Kangsabati Canals Sub-Division No IV Sarenga, Bankura. Memo No: -731/1(27) Dated:-11.01.2022.

Copy submitted/forwarded for information and wide circulation to:-

- 1. The Chief Engineer (South-West), Khasjungle, Abas, Midnapur.
- 2. The District Magistrate, Bankura.
- 3. The Savadhipati, Bankura Zilla Parishad.
- 4. The Superintending Engineer- II Kangsabati Circle, Paschim Medinipur.
- 5. The Executive Engineer, West Midnapur Division/ KKB Division, Paschim Medinipur.
- 6. The Executive Engineer, Kangsabati Canals Division No.- I/II/III/IV/V/BI Division.
- 7. The Director of Information & Cultural affairs Dte, Government of West Bengal, Nabanna, Howrah.
- 8. The District Information Officer, Midnapur, Paschim Medinipur for information.
- 9. Sabhapati, Sarenga/Simlapal Panchyat Samity
- 10. Sabhapati, Garbeta II/Binpur-I Panchyat Samity.
- 11. Assistant Labour Commissioner, Bankura.
- 12. The Sub-Divisional Officer, Khatra.
- 13. The Sub-Divisional Officer, Kangsabati Canals Sub-Division No-I/II/VII.
- 14. The Divisional Accounts Officer, K.C.Division No-I
- 15. Estimating Branch of K.C.Division No-I.
- 16. Sectional Officer, Hd Qtr section for necessary action
- 17. Notice Board of K.C.Sub-Division No-IV.

Sub-Divisional Officer
Kangsabati Canals Sub-Division No IV
Sarenga, Bankura.

Corrigendum 1 of NIT No. WBIW/SDO/KCSD-IV/NIT 05 of 2021-2022

Corrigendum 1 of schedule of SI 1

Schedule of work: Repair of Boundary wall (North side) & Renovation of garden at Kangsabati colony campus at Mouza-Sarenga,Block-Sarenga under kangsabati canals Sub- Division No-IV, Sarenga of Kangsabati canals Division no-I,Amlagora,Paschim Medinipur during the year 2021-22.

SI. No.	Description of items	Quantity	Unit	Rate	Amount
1	Earth work in excavation of foundation trenches or drains, in all sorts of soil including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary rimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. (a) Depth of excavation not exceeding 1,500 mm.	11.940	% Cum	13,491.82	1,611.00
2	Sand filling in foundation trenches and at the back of abutments, wing-walls etc. with good local sand free from earth in layers not exceeding 15 cm. including inundating each layer by profuse water and poking and ramming layer by layer complete including supply of sand. Quality of sand is to be approved by the Engineer-in-charge. (The compaction factor may be taken as 0.835)	0.990	Cum	218.32	216.00
3	Ordinary Cement concrete (mix 1:2:4) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement,if any, in ground floor as per relevant IS codes. Pakur varity/ Ground floor	3.060	Cum	5,947.46	18,199.00
4	125 mm. thick brick work with 1st class bricks in cement mortar (1:4) in ground floor.	21.810	Sqm	700.75	15,283.00
5	Brick work with 1st class bricks in cement mortar (1:4) (a) In foundation and plinth	2.730	Cum	5,400.35	14,743.00
6	Plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Excluding cost of chipping over oncrete surface] (ii) With 1:4 cement mortar (b) 15 mm thick plaster	55.690	Sqm	190.14	10,589.00
7	Neat cement punning about 1.5mm thick in wall, dado, window sill, floor etc. NOTE:Cement 0.152 cu.m per100 sq.m.	13.760	Sqm	37.05	510.00

n h c ir ((() e b n (;	dire and labour charges for shuttering with centering and eccessary staging upto 4 m using approved stout props and thick and wood planks of approved thickness with required bracing for oncrete slabs, beams and columns, lintels curved or straight including fitting, fixing and striking out after completion of works upto roof of ground floor) When the height of a particular floor is more than 4 m the equivalent floor height shall be taken as 4 m and extra for works eyond the initial 4 m ht. shall be allowed under 12 (e) for every 4 in or part thereof) a) 25 mm to 30 mm thick wooden shuttering as per decision & irrection of Engineer-In-Charge.	21.330	Sqm	242.08	5,164.00
С	Colour washing with any shade with Stainers, as required including leaning and smoothening surface thoroughly) Two coats (on new works only).		%Sqm	2,415.11	1,020.00
T u a	abour for M.S. work in Rolled steel joists, channels, angles. ees, plates etc. including supplying material, carriage, loading-nloading, hoisting, placing in position including providing staging and removing after completion of works and cutting to sizes as equired.	282.600	kg	60.18	17,007.00
11 S n c s p int n p n p p (Supplying, fitting and fixing G.I. pipes of TATA make with all eccessary accessories, specials viz. socket, bend, tee, union, ross, elbo, nipple, longscrew, reducing socket, reducing tee, hort piece etc. fitted with holder bats clamps, including cutting ipes, making threads, fitting, fixing etc. complete in all respect including cost of all necessary fittings as required, jointing materials and two coats of painting with approved paint in any osition above ground. (Payment will be made on the centre line measurements of total pipe line including all specials. No separate mayment will be made for accessories, specials. Payment for an inting will be made seperately) A) For Exposed Work (ii) 20 mm dia. medium quality				
		23.800	mtr	255.65	6084.00
				Total	90,426.00

sd/-Sub-Divisional officer Kangsabati Canals Sub-Division No.-IV Sarenga, Bankura

Signature of the Contractor

Corrigendum 1 of NIT No. WBIW/SDO/KCSD-IV/NIT 05 of 2021-2022

Corrigendum 1 of schedule of SI 2

Schedule for the work :-Renovation of existing Drain alongwith extension of remaining cement concrete approach road at Kangsabati colony of Kangsabati Canals Sub-Division No-IV, Bankura at mouza- Sarenga, Block -Sarenga,under Kangsabati Canals Division No-I, Amlagora, Paschim Medinipur during the year 2021-22

SI. No.	Description of items	Quantity	Unit	Rate	Amount
1	Dismantling of existing structures like culverts, bridges, retaining walls and other structure comprising of masonry, cement concrete, steel work, including T&P and scaffolding wherever necessary, sorting the dismantled material, disposal of unserviceable material and stacking the serviceable material with all lifts and lead of 1000 m as per Technical Specifications Clause 202 for Rural Roads of MORD. (I) ByManual Means	2.44	0.1100	454.25	4 552 00
2	b) Cement Concrete	3.44	cum	451.35	1,553.00
	Single Brick Flat Soling of picked jhama bricks including ramming and dressing bed to proper level and filling joints with local sand.	24.30	Sqm	332.57	8,081.00
3	125 mm. thick brick work with 1st class bricks in cement mortar (1:4) in ground floor.	42.40	Sqm	707.00	29,977.00
4	plaster (to wall, floor, ceiling etc.) with sand and cement mortar including rounding off or chamfering corners as directed and raking out joints including throating, nosing and drip course, scaffolding/staging where necessary (Ground floor).[Excluding cost of chipping over concrete surface] (ii) With 1:4 cement mortar (b) 15 mm thick plaster	82.25	Sam	164.13	12 500 00
5	Neat cement punning about 1.5mm thick in wall, dado, window sill,	02.20	Sqm	104.13	13,500.00
J	floor etc.	82.250	Sqm	37.05	3,047.00
6	Ordinary Cement concrete (mix 1:1.5:3) with graded stone chips (20 mm nominal size) excluding shuttering and reinforcement,if any, in ground floor as per relevant IS codes.	16.810	Cum	6,529.45	109,760.00
7	Earth work in excavation of foundation trenches or drains, in all sorts of soil (including mixed soil but excluding laterite or sandstone) including removing, spreading or stacking the spoils within a lead of 75 m. as directed. The item includes necessary trimming the sides of trenches, levelling, dressing and ramming the bottom, bailing out water as required complete. (a) Depth of excavation not exceeding 1,500 mm	70.70	%cum	13,491.82	9,539.00
8	Filling in foundation or plinth by fine sand in layers not exceeding 150 mm as directed and consolidating the same by thorough saturation with water, ramming complete including the cost of supply of sand. (payment to be made on measurement of finished quantity).	70.70	7000111	70,101.02	0,000.00
		9.45	cum	55,135.82	5,210.00

SI. No		Quantity	Unit	Rate	Amount
9	Supplying and laying Polythene Sheet (150gm / sq.m.) over damp proof course or below flooring or roof terracing or in foundation or in foundation trenches.	126.00	Sqm	27.15	3,421.00
10	Hire and labour charges for Shuttering with or without staging upto 4.0 m height using approved stout props with ply wood/steel sheet plate with required bracing for any kind of plain or reinforced concrete works in all sorts of minor structure including culvert, box culvert, crossdrain etc. The rate is inclusive of fitting, fixing and striking out after completion of work as per specification and direction	10.50	Cum	242.08	2,542.00
		•	•	Total	186,630.00

sd/-Sub-Divisional officer Kangsabati Canals Sub-Division No.-IV Sarenga, Bankura

Signature of the Contractor